

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form 990-PF

Return of Private Foundation

or Section 4947(a)(1) Nonexempt Charitable Trust Treated as a Private Foundation OMB No 1545-0052

2012

Open to Public Inspection

Department of the Treasury Internal Revenue Service

Note. The foundation may be able to use a copy of this return to satisfy state reporting requirements

FU	cale	endar year 2012 or tax year beginning	, an	u enanig				
Na	me of	foundation			Α	Employer identification nur	nber	
LU	KIS F	OUNDATION				41-17080	009	
Nu	mber a	and street (or PO box number if mail is not delivered to street addr	ess)	Room/suite	В	Telephone number (see instru		
125	5 WE	STWOOD LANE						
Cit	y or to	wn, state, and ZIP code			C II	f exemption application is per	nding, check here	
WA	YZA	TA	MN 5	55391		, .		
G	Che	ck all that apply.	al return of a former pu	blic charity	D 1	. Foreign organizations, chec	ck here	▶ □
			ended return	•	l	-		
		☐ Address change ☐ Nam	ne change		'	 Foreign organizations meet check here and attach com 	_	▶□
Н	Che	ck type of organization X Section 501(c)(3) exer	<u>X.</u>		i		•	
<u></u>			Other taxable private for		E	f private foundation status wa inder section 507(b)(1)(A), ch	is terminated	▶□
<u> 느</u>					ł			- []
ı		market value of all assets at end J Accounting i	method X Cash	Accrual		f the foundation is in a 60-mo inder section 507(b)(1)(B), ch		_
_		ear (from Part II, col. (c), ☐ Other (sp. 16) ► \$ 10,741,924 (Part I, column (`	inder section 507 (b)(1)(b), cr	icon fiere	
	rt I	Analysis of Revenue and Expenses (The total of	I I I I I I I I I I I I I I I I I I I	3)	L	T	(d) Disbursem	ente
		amounts in columns (b), (c), and (d) may not necessarily equal	(a) Revenue and expenses per	(b) Net investme	ent	(c) Adjusted net	for chantabl	
-		the amounts in column (a) (see instructions))	books	income		ıncome	purposes (cash basis or	nlv)
	1	Contributions offer greats at a second (-11-11-11-11-11-11-11-11-11-11-11-11-11	4		J'aj.			744F
	2	Contributions, gifts, grants, etc., received (attach schedule)	<u>'</u>		y «Lir V My			X \$ 249,3 1
	3	Check Interest on savings and temporary cash investments	3,	***			·y.	
	4	Dividends and interest from securities	23,496	23	3,496			
	l i	3 Gross rents .	20,430		, , 45 C	<u> </u>	······································	
	Ι.	Net rental income or (loss)		, w ₁ < _	ويرد.		l _d ,	VA.
e		Net gain or (loss) from sale of assets not on line 10	18,548	<u> </u>	~ ~	`		1 61-10
Revenue		O Gross sales price for all assets on line 6a 297,144	10,0 10					
ě	7	Capital gain net income (from Part IV, line 2)		18	3,548	3 3		
œ	8	Net short-term capital gain	₹,	- Type - 1	, , , , , ,	25.0	1 19.	1.27.2
	9	Income modifications	.,					
	1 ~	Gross sales less returns and allowances	<u> </u>	· · · · · · · · · · · · · · · · · · ·				
		b Less Cost of goods sold		·				
	ı	Gross profit or (loss) (attach schedule)						i
	11	Other income (attach schedule)						į
	12	Total. Add lines 1 through 11	42,045	42	2.044	4 0		
'n	13	Compensation of officers, directors, trustees, etc	15/0 10		-,			
xpenses	14	Other employee salaries and wages						
e	15	Pension plans, employee benefits						
×	16 :	· · · · · · · · · · · · · · · · · · ·						
ш	1	b Accounting fees (attach schedule)	2,029		2,029	9		
₹	(C Other professional fees (attach schedule) .	9,266	(9,266	3		
<u>.</u>	17	Interest						
<u></u>	18	Taxes (attach schedule) (see instructions) .	1,036		1,036	3		
	19	Depreciation (attach schedule) and depletion						
وَ	20	Occupancy					· · · · · ·	
-	21	Travel, conferences, and meetings						
	22	Printing and publications .		 				
<u> </u>	23	Other expenses (attach schedule)						
Operating and Administrative	24	Total operating and administrative expenses.				_[_
2.E		Add lines 13 through 23	12,331	12	2,33°	1 0		0
F	25	Contributions, gifts, grants paid .	70,000					70,000
_	<u> </u>	Total expenses and disbursements. Add lines 24 and 25	82,331	1;	2,33	1 0		70,000
	27	Subtract line 26 from line 12						
	1	a Excess of revenue over expenses and disbursements	-40,286	-	0.74			
		b Net investment income (if negative, enter -0-)			9,71			
		C Adjusted net income (if negative, enter -0-)	1			1 0	1	'

Part II		Balance Sheets Attached schedules and amounts in the description column	Beginning of year	End o	l of year		
га 	ш	should be for end-of-year amounts only. (See instructions)	(a) Book Value	(b) Book Value	(c) Fair Market Value		
	1	Cash—non-interest-bearing					
	2	Savings and temporary cash investments	4,502	73,856	73,856		
	3	Accounts receivable					
		Less allowance for doubtful accounts					
	4	Pledges receivable ▶					
		Less allowance for doubtful accounts					
	5	Grants receivable	•				
	6	Receivables due from officers, directors, trustees, and other					
		disqualified persons (attach schedule) (see instructions)					
	7	· ·					
		Less allowance for doubtful accounts	· · · · · · · · · · · · · · · · · · ·				
S	8	***************************************					
Assets	9	Prepaid expenses and deferred charges					
Š	10	a Investments—U S and state government obligations (attach schedule)	-	57,769	59,958		
•	'`	b Investments—corporate stock (attach schedule)	777,267	609,810	10,607,630		
		c Investments—corporate bonds (attach schedule)	771,201	003,010	10,007,000		
	11	_	· · · · · · · · · · · · · · · · · · ·				
	ļ '''	Investments—land, buildings, and equipment basis					
	12	Less accumulated depreciation (attach schedule)					
	13						
		, , , , , , , , , , , , , , , , , , , ,		· · · · · · · · · · · · · · · · · · ·			
	14		_ <u> </u>				
	4-	Less accumulated depreciation (attach schedule)					
	15		432	480	480		
	16	, and the second (to be seen, protect by an investor cook in the second cook in the secon					
	<u> </u>	instructions Also, see page 1, item I)	782,201	741,915	10,741,924		
	17	Accounts payable and accrued expenses .			· · · · · · · · · · · · · · · · · · ·		
S	18	Grants payable					
Liabilities	19	Deferred revenue					
豆	20	Loans from officers, directors, trustees, and other disqualified persons			· · · · · · · · · · · · · · · · · · ·		
<u>.e</u>	21	Mortgages and other notes payable (attach schedule)			~		
_	22	Other liabilities (describe					
	23	Total liabilities (add lines 17 through 22)	0	0	, \$		
S		Foundations that follow SFAS 117, check here .					
ce	ļ	and complete lines 24 through 26 and lines 30 and 31.					
alances	24	Unrestricted .	782,201	741,915			
	25	Temporarily restricted .					
Net Assets or Fund B	26	Permanently restricted					
E		Foundations that do not follow SFAS 117, check here					
Ē		and complete lines 27 through 31.					
0	27	Capital stock, trust principal, or current funds					
Ş	28	Paid-in or capital surplus, or land, bldg , and equipment fund					
SS	29	Retained earnings, accumulated income, endowment, or other funds					
₹	30	Total net assets or fund balances (see instructions)	782,201	741,915			
Ē	31	Total liabilities and net assets/fund balances (see					
	L	instructions)	782,201	741,915			
Pa	rt III	Analysis of Changes in Net Assets or Fund Balances					
1		I net assets or fund balances at beginning of year—Part II, column (a), line	30 (must agree with				
		of-year figure reported on prior year's return)		. 1	782,201		
2		er amount from Part I, line 27a		2	40,286		
3		er increases not included in line 2 (itemize)		3	10,200		
4		lines 1, 2, and 3		. 4	741,915		
5		reases not included in line 2 (itemize)		5	7 - 1,010		
		il net assets or fund halances at end of year (line 4 minus line 5\Part II. co			744.045		

Γа	Capital Gains an	a Losses for tax on inve	<u>ssume</u>	nt incor	<u>ne</u>			
	(a) List and describe the	kınd(s) of property sold (e g , real esta e, or common stock, 200 shs MLC Co	ate,		(b) How acquired P—Purchase D—Donation		Date acquired to , day, yr)	(d) Date sold (mo , day, yr)
1a	SHORT TERM - SCH II				P	VARIO	DUS	VARIOUS
b	LONG TERM - SCH III				Р	VARIO	DUS	VARIOUS
c						_		
d	<u> </u>							
е								
	(e) Gross sales price	(f) Depreciation allowed (or allowable)			other basis nse of sale			in or (loss) (f) minus (g)
a	51,551				50,692			859
b	245,593			·	227,904	ļ		17,689
<u>_</u>								
<u>d</u>	·						 	
<u>e</u> _	Complete only for assets show	ing gain in column (h) and owned	d by the	foundatio	n on 12/31/60			
	Complete only for assets show		a by the					ol (h) gain minus ot less than -0-) or
	(i) F M V as of 12/31/69	(j) Adjusted basis as of 12/31/69			sofcol(ı) (j),ıfany			from col (h))
a					0,7	<u> </u>	(859
b			-					17,689
С								17,000
d		· - ·			· · · ·			
е						-		
2	Capital gain net income or (i	net capital loss) { If gain, a		ter in Par		2	-	18,548
3	Net short-term capital gain of	or (loss) as defined in sections					_	10,040
	· -	ne 8, column (c) (see instructi						
	in Part I, line 8				}	3		0
Pa	·	er Section 4940(e) for Re	educe	d Tax o	n Net Investm	ent In	come	
(Fo	r optional use by domestic or	vate foundations subject to the	ne sect	tion 4940	a) tax on net inve	estmer	t income)	
					-,		,	
IT S	ection 4940(d)(2) applies, lea	ive this part blank						
Wa	s the foundation liable for the	section 4942 tax on the distri	ıbutabl	e amount	of any year in th	e base	period?	☐ Yes 💢 No
If '`	es," the foundation does not	qualify under section 4940(e)) Don	ot comple	te this part			
1	Enter the appropriate amou	unt in each column for each ye	ear, se	e the inst	ructions before m	nakıng	any entries	
	(a)	(b)			(c)			(d)
C	Base period years alendar year (or tax year beginning in	Adjusted qualifying distribution	ns	Net value o	f nonchaπtable-use a	ssets		stribution ratio divided by col (c))
	2011		9,748		1,239	9.385	(001 (0)	0 838923
	2010		2,500			3,609	· · · · · ·	0 022928
	2009		3,000			3,163		0 018051
	2008		2,398			9,555		0 100714
	2007	2:	2,500			1,553	<u> </u>	0.037403
_					-			
	Total of line 1, column (d)					-	2	1 018019
3		the 5-year base period—divid						0.000004
	the number of years the four	ndation has been in existence	ir iess	tnan 5 ye	ears	-	3	0 203604
4	Enter the net value of nonch	aritable-use assets for 2012 f	rom Pa	art X line	5		4	1,710,622
•	Enter the flet value of florion	antable asc assets 10, 2012 1	101111	are A, mic	o .	F	7	1,710,022
5	Multiply line 4 by line 3 .						5	348,289
	• • • •							
6	Enter 1% of net investment	ncome (1% of Part I, line 27b)				6	297
						Γ		
7	Add lines 5 and 6		•			. [7	348,586
Ω	Enter qualifying distributions	from Part VII line 4						70.000
O		r than line 7, check the box in	Part V	Il line 1h	and complete th	· L	8 using a 1%	70,000
							11.30101 / 170	

Fo	Form 990-PF (2012) LUKIS FOUNDATION			41-1708	009	Pa	ige 4	
P	ar	t VI	Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948-	-see	instructio	ns)		
1	а	Exempt operati	ng foundations described in section 4940(d)(2), check here ▶ ☐ and enter "N/A" on line 1 ☐					
		Date of ruling o	r determination letter (attach copy of letter if necessary—see instructions)					
	þ	Domestic found	lations that meet the section 4940(e) requirements in Part V, check	1			594	
	_	_	and enter 1% of Part I, line 27b					
	C	of Part I, line 12	Stic foundations enter 2% of line 27b Exempt foreign organizations enter 4%					
2		•	on 511 (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-)	2			0	
3		Add lines 1 and		3			594	
4		Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-)					- 00 -	
5		Tax based on investment income. Subtract line 4 from line 3 If zero or less, enter -0-					594	
6		Credits/Paymer	nts					
			tax payments and 2011 overpayment credited to 2012 6a 480					
			organizations—tax withheld at source 6b					
		•	pplication for extension of time to file (Form 8868) 6c 114					
7			ding erroneously withheld		ļ		<u> </u>	
8			d payments Add lines 6a through 6d Ilty for underpayment of estimated tax. Check here	7 8			594	
9		= =	total of lines 5 and 8 is more than line 7, enter amount owed	9			0	\vdash
10)		If line 7 is more than the total of lines 5 and 8, enter the amount overpaid	10			0	\vdash
1	_		nt of line 10 to be: Credited to 2013 estimated tax ▶ Refunded ▶	11			0	\vdash
Р	ar	t VII-A State	ements Regarding Activities		<u> </u>			
1	а	During the tax y	year, did the foundation attempt to influence any national, state, or local legislation or did it				Yes	No
			tervene in any political campaign?			1a		X
	b Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see							
	Instructions for the definition)?					1b		<u> </u>
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials						·4.	, , ,
	published or distributed by the foundation in connection with the activities				_]
	C Did the foundation file Form 1120-POL for this year?				-	1c		X.,
	a		int (if any) of tax on political expenditures (section 4955) imposed during the year				بدا پ	
	_		undation ► \$ (2) On foundation managers ► \$ ursement (if any) paid by the foundation during the year for political expenditure tax imposed					1
	Ŭ		nanagers > \$		[
2			tion engaged in any activities that have not previously been reported to the IRS?		-	2		X
			a detailed description of the activities		<u> </u>	_	<	
3		Has the founda	tion made any changes, not previously reported to the IRS, in its governing instrument, articles					
			o, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes			3		X
4			ion have unrelated business gross income of \$1,000 or more during the year?		_	4a		<u>X</u>
_			iled a tax return on Form 990-T for this year?		·	4b	N/A	<u> </u>
5			uidation, termination, dissolution, or substantial contraction during the year?		-	5		X
6		•	the statement required by General Instruction T ments of section 508(e) (relating to sections 4941 through 4945) satisfied either					
٠			e in the governing instrument, or					
			islation that effectively amends the governing instrument so that no mandatory directions					
			n the state law remain in the governing instrument?		-	6	Х	
7			ion have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), an	d Par	tXV	7	Х	
8	а		s to which the foundation reports or with which it is registered (see instructions)					
		MN	•••••					
	b		"Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney]			
_			signate) of each state as required by General Instruction G? If "No," attach explanation		ļ_	8b	X	Ь.,
9			in claiming status as a private operating foundation within the meaning of section 4942(j)(3)		-			<u> </u>
		complete Part	r calendar year 2012 or the taxable year beginning in 2012 (see instructions for Part XIV)? If "Yes,"			9		x
10	0	•	s become substantial contributors during the tax year? If "Yes," attach a schedule listing		· ·	3		├
- 1	-	their names an	· · · · · · · · · · · · · · · · · · ·			10		x
-	_							

• • • • • • • • • • • • • • • • • • • •	41-1/C	8009	P	age 🧿
Par	t VII-A Statements Regarding Activities (continued)			
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the			
	meaning of section 512(b)(13)? If "Yes," attach schedule (see instructions)	11		X
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had			
	advisory privileges? If "Yes," attach statement (see instructions)	12		Х
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	_ X	
	Website address			
14	The books are in care of ► LAWRENCE LUKIS Telephone no ►			
	Located at ► 125 WESTWOOD LANE WAYZATA MN ZIP+4 ► 55391			<u></u>
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041—Check here		Þ	▶ ∟
4.0	and enter the amount of tax-exempt interest received or accrued during the year	-		
16	At any time during calendar year 2012, did the foundation have an interest in or a signature or other authority	۱	Yes	No
	over a bank, securities, or other financial account in a foreign country?	16		X
	See the instructions for exceptions and filing requirements for Form TD F 90-22 1 If "Yes," enter the name of the foreign country ▶			
Dai	rt VII-B Statements Regarding Activities for Which Form 4720 May Be Required	L		
ıaı		, <u>.</u>		
1a	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
ıa	During the year did the foundation (either directly or indirectly) (1) Engage in the sale or exchange, or leasing of property with a disqualified person? Yes X No			
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person? [Yes X No (2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from)		э.	
	a disqualified person? Yes X No		ľ	
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person? Yes X No	,	. ,	,
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? Yes X No		•	
	(5) Transfer any income or assets to a disqualified person (or make any of either available for the benefit or use of a disqualified person)? Yes X No.			
	for the benefit or use of a disqualified person)? (6) Agree to pay money or property to a government official? (Exception. Check "No"		Sis	
	if the foundation agreed to make a grant to or to employ the official for a period		150460	
	after termination of government service, if terminating within 90 days) . Yes X No			
b	If any answer is "Yes" to 1a(1)–(6), did any of the acts fail to qualify under the exceptions described in Regulations			
	section 53 4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b	N/A	
	Organizations relying on a current notice regarding disaster assistance check here	<u> </u>		
С	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts,			
	that were not corrected before the first day of the tax year beginning in 2012?	1c		Х
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private			
	operating foundation defined in section 4942(j)(3) or 4942(j)(5))			
а	At the end of tax year 2012, did the foundation have any undistributed income (lines 6d			
	and 6e, Part XIII) for tax year(s) beginning before 2012? Yes X No			
L	If "Yes," list the years 20 , 20 , 20 , 20			
b	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2)			
	(relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to all years listed, answer "No" and attach statement—see instructions)	26		
С	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here	2b		X
	20 , 20 , 20 , 20 , 20 , 20 , 20 , 20 ,			
3a	Did the foundation hold more than a 2% direct or indirect interest in any business			
	enterprise at any time during the year?			
b	If "Yes," did it have excess business holdings in 2012 as a result of (1) any purchase by the foundation			
	or disqualified persons after May 26, 1969, (2) the lapse of the 5-year period (or longer period approved			
	by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest, or (3)			
	the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine			
	if the foundation had excess business holdings in 2012)	3b	N/A	
4a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		X
b	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable			
	purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2012?	4b	1	X

Forn	990-PF (2012) LUKIS FOUNDATION				41-1708	009	Page 6
Pa	t VII-B Statements Regarding Activi	ties for Which Fo	rm 4720 May Be	Required (continued	d)		_
5a	(1) Carry on propaganda, or otherwise attempt to influence legislation (section 4945(e))? (2) Influence the outcome of any specific public election (see section 4955), or to carry						,
	on, directly or indirectly, any voter registratio (3) Provide a grant to an individual for travel, sti		poses?	Yes [X No		,
	(4) Provide a grant to an organization other than in section 509(a)(1), (2), or (3), or section 49	n a charitable, etc , orga	nization described	Yes [X No		
	(5) Provide for any purpose other than religious educational purposes, or for the prevention	of cruelty to children or	anımals?		X No		
b	If any answer is "Yes" to 5a(1)–(5), did any of the Regulations section 53 4945 or in a current notice					5b N	J/A
С	Organizations relying on a current notice regarding if the answer is "Yes" to question 5a(4), does the fax because it maintained expenditure responsibility "Yes," attach the statement required by Regular	oundation claim exemp ty for the grant?	tion from the	. ► [No		
6a	Did the foundation, during the year, receive any fu premiums on a personal benefit contract?	nds, directly or indirectl	y, to pay ·	· Yes [X No		
b	Did the foundation, during the year, pay premiums If "Yes" to 6b, file Form 8870	, directly or indirectly, o	n a personal benefit c			6b	X
	At any time during the tax year, was the foundation a party to a prohibited tax shelter transaction? Yes X If "Yes," did the foundation receive any proceeds or have any net income attributable to the transaction?						.'` <u></u> \/A
	Information About Officers and Contractors						
1	List all officers, directors, trustees, founda	tion managers and t	heir compensation	(see instructions)			
	(a) Name and address	(b) Title, and average hours per week devoted to position	(c) Compensation (if not paid, enter	(d) Contributions to employee benefit plans and deferred compensation	1 01	xpense er allow	account,
SE	SCHEDULE IV	F					
					_		
 —							
	Compensation of five highest-paid employ enter "NONE."	ees (other than thos	e included on line	1—see instructions). If	f none,		
(a	Name and address of each employee paid more than \$50,	(b) Title, and avera hours per week devoted to position	(c) Compensation	(d) Contributions to employee benefit plans and deferred compensation		xpense ier allow	account, rances
NO	NE .						
Tot	al number of other employees paid over \$50,0	00		I	▶		

Form 990-PF (2012)

LUKIS FOUNDATION

Form 990-PF (2012) LUKIS FOUNDATION		41-1708009 Page 7
Part VIII Information About Officers, Directors, Trustees, Fo		
and Contractors (continued)		
3 Five highest-paid independent contractors for professional services (see	instructions). If none, enter "NONE."	
(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
NONE		
		-:
		}-
Total number of others receiving over \$50,000 for professional services	>	
Part IX-A Summary of Direct Charitable Activities		
List the foundation's four largest direct charitable activities during the tax year. Include relevant statis	stical information such as	
the number of organizations and other beneficianes served, conferences convened, research papers		Expenses
1 CONTRIBUTIONS TO OTHER CHARITABLE ORGANIZATIONS		
SEE SCHEDULE V		70,000
2		
		İ
3		
<u> </u>		
4		
Part IX-B Summary of Program-Related Investments (see ins		
Describe the two largest program-related investments made by the foundation during the tax year on	lines 1 and 2	Amount
1		
NONE		
2		<u></u>
4		
•		
All other program-related investments. See instructions	.,	
3		
Total. Add lines 1 through 3	▶ ¹	l c

Par		foundat	ions,
	see instructions.)		
1	Fair market value of assets not used (or held for use) directly in carrying out chantable, etc.,		
	purposes		
а	Average monthly fair market value of securities	1a	1,661,468
b	Average of monthly cash balances	1b	75,204
C	Fair market value of all other assets (see instructions)	1c	
d	Total (add lines 1a, b, and c)	1d	1,736,672
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation)		
2	Acquisition indebtedness applicable to line 1 assets	2	
3	Subtract line 2 from line 1d	3	1,736,672
4	Cash deemed held for charitable activities Enter 1 ½ % of line 3 (for greater amount, see		
	instructions) .	4	26,050
5	Net value of noncharitable-use assets. Subtract line 4 from line 3 Enter here and on Part V, line 4	5	1,710,622
6	Minimum investment return. Enter 5% of line 5	6	85,531
Par	Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating		
	foundations and certain foreign organizations check here 🕒 🔲 and do not complete this part)		
1	Minimum investment return from Part X, line 6	1	85,531
2a	Tax on investment income for 2012 from Part VI, line 5 2a 594		
b	Income tax for 2012 (This does not include the tax from Part VI)		
С	Add lines 2a and 2b	2c	594
3	Distributable amount before adjustments Subtract line 2c from line 1	3	84,937
4	Recoveries of amounts treated as qualifying distributions	4	
5	Add lines 3 and 4	5	84,937
6	Deduction from distributable amount (see instructions)	6	
7	Distributable amount as adjusted Subtract line 6 from line 5 Enter here and on Part XIII,		
	line 1	7	84,937
Par	Qualifying Distributions (see instructions)		
r ar	Qualitying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes		
а	Expenses, contributions, gifts, etc —total from Part I, column (d), line 26	1a	70,000
b	Program-related investments—total from Part IX-B	1b	
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,		
	purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the		
а	Suitability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4	4	70,000
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		
	income Enter 1% of Part I, line 27b (see instructions)	5	
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	70,000
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the found	ation	
	qualifies for the section 4940(e) reduction of tax in those years		

Form 9	90-PF (2012) LUKIS FOUND	ATION			41-1	708009 Page 9
Part	XIII Undistributed Incor		3)	-		
	•		(a)	(b)	(c)	(d)
1	Distributable amount for 2012 fro	om Part XI,	Corpus	Years prior to 2011	2011	2012
	line 7					84,937
2	Undistributed income, if any, as	of the end of 2012				
	Enter amount for 2011 only				0	
b	Total for prior years 20,	20, 20				
3	Excess distributions carryover, if	any, to 2012 [.]				
а	From 2007					
þ	From 2008	· · · · · · · · · · · · · · · · · · ·				
C	From 2009					
d	From 2010			:		
е	From 2011 [959,751				
. †	Total of lines 3a through e	:	959,751			
4	Qualifying distributions for 2012					
_		70,000				
	Applied to 2011, but not more th					
D	Applied to undistributed income	` '				
^	(Election required—see instructi	· .				
С	Treated as distributions out of co	orpus (Election				
d	required—see instructions) Applied to 2012 distributable am	· · · ·				70,000
	Remaining amount distributed or	ľ				70,000
5	Excess distributions carryover a	` I	14,937			14,937
•	(If an amount appears in column	•	14,007			14,007
	same amount must be shown in					
6	Enter the net total of each col					
	indicated below:		,`,			Ĵ
а	Corpus Add lines 3f, 4c, and 4e	Subtract line 5	944,814			
	Prior years' undistributed income					
	line 4b from line 2b			0		
C	Enter the amount of prior years'	undistributed				
	income for which a notice of defi	iciency has				
	been issued, or on which the se-	ction 4942(a)				
	tax has been previously assesse	ed				
d	Subtract line 6c from line 6b Tax	kable				;
	amount—see instructions					
е	Undistributed income for 2011					
	4a from line 2a Taxable amount	—see				
	instructions				0	
f	Undistributed income for 2012 S					
	lines 4d and 5 from line 1. This a	amount must				
7	be distributed in 2013 .					0
,	Amounts treated as distributions					
	corpus to satisfy requirements in	· -				
8	section 170(b)(1)(F) or 4942(g)(in Excess distributions carryover fr					
•	not applied on line 5 or line 7 (se					
9	Excess distributions carryove	•				
•	Subtract lines 7 and 8 from line		944,814			
10	Analysis of line 9		71,514			
a	Excess from 2008					
b	Excess from 2009					
c	Excess from 2010 .					
ď	Excess from 2011	944,814				
-	Excess from 2012					

	990-PF (2012) LUKIS FOUNDATION				41-170	
_	t XIV Private Operating Foundations			, question 9)		N/A
	If the foundation has received a ruling or determin foundation, and the ruling is effective for 2012, ent	er the date of the ru	ing .	•		
	Check box to indicate whether the foundation is a	private operating for	ındatıon described	in section	4942(J)(3) o	r 4942(j)(5)
2 a	Enter the lesser of the adjusted net	Tax year		Prior 3 years		4.3 *-4.1
	investment return from Part X for each	(a) 2012	(b) 2011	(c) 2010	(d) 2009	(e) Total
	year listed .					0
b	85% of line 2a					0
С	Qualifying distributions from Part XII,					,
	line 4 for each year listed					0
d	Amounts included in line 2c not used directly					
	for active conduct of exempt activities					0
е	Qualifying distributions made directly for active conduct of exempt activities					
	Subtract line 2d from line 2c					0
3	Complete 3a, b, or c for the				<u> </u>	<u> </u>
	alternative test relied upon					
а	"Assets" alternative test—enter.					
•	(1) Value of all assets			 		0
	(2) Value of assets qualifying under section 4942(j)(3)(B)(i)					0
b	"Endowment" alternative test—enter 2/3					_
	of minimum investment return shown in Part X, line 6 for each year listed					_
С	"Support" alternative test—enter			 		0
·	(1) Total support other than gross					
	investment income (interest,					
	dividends, rents, payments on securities loans (section					
	512(a)(5)), or royalties)					0
	(2) Support from general public					
	and 5 or more exempt organizations as provided in					ı
	section 4942(j)(3)(B)(III)					0
	(3) Largest amount of support					<u> </u>
	from an exempt organization					0
	(4) Gross investment income					0
Pa	t XV Supplementary Information (Co	mplete this par	t only if the fo	undation had \$5	,000 or more in	
	assets at any time during the ye	ear—see instruc	ctions.)			
1	Information Regarding Foundation Manage					
а	List any managers of the foundation who have con				the foundation	
	before the close of any tax year (but only if they have		tnan \$5,000) (Se	e section 507(d)(2))		
	VRENCE LUKIS DONNA LI		l. af a a a a a a a a a a a a a			
D	List any managers of the foundation who own 10% ownership of a partnership or other entity) of which				ortion of the	
2	Information Regarding Contribution, Grant	, Gift, Loan, Scho	larship, etc Pro	ograms:		· · · · · · · · · · · · · · · · · · ·
	Check here \blacktriangleright \boxed{X} if the foundation only makes	•	• • •	•	oes not accept	
	unsolicited requests for funds. If the foundation mother conditions, complete items 2a, b, c, and d					
а	The name, address, and telephone number or e-n	nail of the person to	whom applications	should be addressed		
b	The form in which applications should be submitted	ed and information ar	nd materials they s	hould include.		
С	Any submission deadlines.					
d	Any restrictions or limitations on awards, such as	by geographical area	as, chantable fields	, kınds of ınstitutions,	or other	
	factors					

Part XV Supplementary Information (continued)

3 Grants and Contributions Paid During		for Future	Payment	
Recipient	If recipient is an individual, show any relationship to any foundation manager	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	or substantial contributor	recipient	CONTRIBUTION	
a Paid during the year SEE SCHEDULE V	or substantial contributor			70,000
Total	·		▶ 3 a	70,000
b Approved for future payment				
Total		•	► 2h	1

Part XVI A Analysis of Income Brodusing Activ	vition				
Part XVI-A Analysis of Income-Producing Acti	vities		-		
Enter gross ámounts unless otherwise indicated	Unrelated but	Unrelated business income Excluded t			(e)
•	(a) Business code	(b) Amount	(c) Exclusion code	(d) Amount	Related or exempt function income
1 Program service revenue					(See instructions)
a					
b					
С					
d					
e					<u> </u>
G. Coop and contracts from accomment accomme					
g Fees and contracts from government agencies			 		
2 Membership dues and assessments					
3 Interest on savings and temporary cash investments .				1.00	
4 Dividends and interest from securities			14	23,496	<u> </u>
5 Net rental income or (loss) from real estate	* ;	1.7	<u> </u>		
a Debt-financed property			<u> </u>		
b Not debt-financed property					
6 Net rental income or (loss) from personal property					
7 Other investment income					
8 Gain or (loss) from sales of assets other than inventory			18	18,548	
9 Net income or (loss) from special events .					
10 Gross profit or (loss) from sales of inventory					
11 Other revenue a					
b					
с					
d			1		
е					
12 Subtotal Add columns (b), (d), and (e)		C) / /	42,044	ō
13 Total. Add line 12, columns (b), (d), and (e)		1	<u>′1 </u>	13	42,044
(See worksheet in line 13 instructions to verify calculations)	•				72,011
Part XVI-B Relationship of Activities to the Acc	complishment	of Example	Purnoses		· · · · · · · · · · · · · · · · · · ·
Line No. Explain below how each activity for which income				nortantly to	
the accomplishment of the foundation's exempt p					rtions \
		providing to	mao ioi oaon parpe	(000 1110114	
		,_ -			
	· · · · · · · · · · · · · · · · · · ·				<u> </u>
					
					-
				_	·
			·····		
	·				

Form	• 990-PF	(²⁰¹²⁾ LUKIS FOU	NDATION				41-170	08009	Pagi	e 13
Pai	t XVII	Information Reg	_	sfers To and Transa	ctions a	nd Rel	ationships With Nonchar			
1	ın sect	e organization directly of	or indirectly en				r organization described n 527, relating to political		Yes	No
b	(1) Ca (2) Other f (1) Sa (2) Pu (3) Re (4) Re (5) Lo (6) Pe Sharm If the a value of	ash ther assets transactions ales of assets to a none urchases of assets from ental of facilities, equipr embursement arranger ans or loan guarantees erformance of services g of facilities, equipment answer to any of the about the goods, other ass	charitable exern a noncharital ment, or other ments or membershint, mailing lists ove is "Yes," cets, or service	ble exempt organization assets p or fundraising solicitates, other assets, or paid examplete the following solicitors by the reporting	cions employees chedule C foundatior	olumn ((b) should always show the fair foundation received less than goods, other assets, or service	aır marke	et	X X X X X X X X
(a) l	Line no	(b) Amount involved		of nonchantable exempt organi		,	escription of transfers, transactions, and			nts
	describ	foundation directly or in ped in section 501(c) or " complete the followin	f the Code (ot	ted with, or related to, or her than section 501(c)(ne or more 3)) or in se	tax-exection 52	empt organizations	Yes X	No	
		(a) Name of organization		(b) Type of orga	anization		(c) Description of rela	tionship		_
	U	nder penalties of perjury, I declare t	hat I have examined	this retum, including accompanying s	schedules and st	atements, a	and to the best of my knowledge and belief, it is	rue,		

correct, and complete Declaration of preparer (other than taxpayer) is based on all information of which preparer has any knowledge Sign Here Signature of officer or trustee Date Print/Type preparer's name

► HINSHAW & CULBERTSON LLP

Firm's address ► 333 SOUTH 7TH ST #2000, MINNEAPOLIS, MN 55402

May the IRS discuss this return with the preparer shown below (see instructions)? X Yes No

PTIN

612-333-3434

Paid **Preparer Use Only** KEVIN MOORE, CPA

Preparer's signature

10/25/2013

Check ____ if self-employed Firm's EIN

Phone no

P01426276 36-2128133

Schedule B

(Form 990, 990-EZ, or 990-PF)

Department of the Treasury Internal Revenue Service

Schedule of Contributors

Attach to Form 990, Form 990-EZ, or Form 990-PF.

OMB No 1545-0047

Name of the organization		Employer identification number
LUZIS EQUINDATION		44.4700000
LUKIS FOUNDATION Organization type (check one	e)	41-1708009
	-,	
Filers of:	Section:	
Form 990 or 990-EZ	501(c)() (enter number) organization	
	4947(a)(1) nonexempt charitable trust not treated as a private found	lation
	527 political organization	
Form 990-PF	X 501(c)(3) exempt private foundation	
	4947(a)(1) nonexempt charitable trust treated as a private foundation	n
	501(c)(3) taxable private foundation	
Note. Only a section 501(c)(7) instructions	covered by the General Rule or a Special Rule.), (8), or (10) organization can check boxes for both the General Rule and a	a Special Rule See
General Rule		
	ling Form 990, 990-EZ, or 990-PF that received, during the year, \$5,000 or se contributor Complete Parts I and II	more (in money or
Special Rules		
sections 509(a)(1) an	3) organization filing Form 990 or 990-EZ that met the 33 1/3% support test d 170(b)(1)(A)(vi) and received from any one contributor, during the year, a % of the amount on (i) Form 990, Part VIII, line 1h, or (ii) Form 990-EZ, line	contribution of the greater
the year, total contribu	7), (8), or (10) organization filing Form 990 or 990-EZ that received from an utions of more than \$1,000 for use <i>exclusively</i> for religious, charitable, scies, or the prevention of cruelty to children or animals. Complete Parts I, II, and	ntific, literary, or
the year, contributions total to more than \$1, year for an exclusively	7), (8), or (10) organization filing Form 990 or 990-EZ that received from an s for use exclusively for religious, charitable, etc., purposes, but these cont 000. If this box is checked, enter here the total contributions that were received y religious, charitable, etc., purpose. Do not complete any of the parts unlegation because it received nonexclusively religious, charitable, etc., contributions.	ributions did not eived during the ss the General Rule
Caution. An organization that 990-EZ, or 990-PF), but it mu	is not covered by the General Rule and/or the Special Rules does not file st answer "No" on Part IV, line 2 of its Form 990; or check the box on line h	Schedule B (Form 990, H of its Form 990-EZ or on

Part I, line 2 of its Form 990-PF, to certify that it does not meet the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF)

Name of organization Employer identification number LUKIS FOUNDATION 41-1708009

Part I	Contributors (see instructions). Use duplicate copie	s of Part I if additional space is r	eeded.
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
1	LARRY AND DONNA LUKIS 125 WESTWOOD LANE WAYZATA MN 55391 Foreign State or Province Foreign Country	\$9,202,500	Person Payroll Noncash X (Complete Part II if there is a noncash contribution)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
	Foreign State or Province Foreign Country	\$	Person Payroll Oncash (Complete Part II if there is a noncash contribution)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
	Foreign State or Province Foreign Country	\$	Person Payroll Oncash (Complete Part II if there is a noncash contribution)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
	Foreign State or Province Foreign Country	\$	Person Payroll Oncash (Complete Part II if there is a noncash contribution)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
	Foreign State or Province Foreign Country	\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
	Foreign State or Province Foreign Country.	\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution)

Name of organization
LUKIS FOUNDATION

Employer identification number 41-1708009

Noncash Property (see instructions). Use duplicate copies of Part II if additional space is needed. Part II (a) No. (c) (d) FMV (or estimate) from Description of noncash property given Date received (see instructions) Part I 250,000 SHARES OF PROTOLABS, INC PUBLICLY TRADED STOCK . . 1 \$ 9,202,500 12/27/2012 (a) No. (c) (b) FMV (or estimate) from Description of noncash property given Date received Part I (see instructions) (a) No. (c) (b) (d) from FMV (or estimate) Description of noncash property given Date received Part I (see instructions) (a) No. (c) (d) (b) from FMV (or estimate) Date received Description of noncash property given Part I (see instructions) (a) No. (c) (d) FMV (or estimate) from Description of noncash property given Date received (see instructions) Part I (c) (a) No. (d) FMV (or estimate) from **Date received** Description of noncash property given Part I (see instructions)

	rganization UNDATION		Employer identification number 41-1708009
art III	Exclusively religious, charitable, etc., indivious total more than \$1,000 for the year. Completer organizations completing Part III, enter the	te columns (a) through (e) and the	501(c)(7), (8), or (10) organizations ne following line entry
	contributions of \$1,000 or less for the year (E	• •	
	Use duplicate copies of Part III if additional sp	pace is needed	
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
		(e) Transfer of gift	
	Transferee's name, address, and ZIP	+4 Relation	onship of transferor to transferee
	For Prov Country		
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
		(e) Transfer of gift	
	Transferee's name, address, and ZIP	+ 4 Relation	onship of transferor to transferee
	For Prov Country		
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
		(e) Transfer of gift	
	Transferee's name, address, and ZIP	+ 4 Relati	onship of transferor to transferee
	For Prov Country		
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
		(e) Transfer of gift	
	Transferee's name, address, and ZIP	P + 4 Relati	onship of transferor to transferee
	For Prov Country		

Part I, Line 16b (990-PF) - Accounting Fees

		2,029	2,029	C	0
•	-				Disbursements
		Revenue and			for Charitable
		Expenses per	Net Investment	Adjusted Net	Purposes
	Description	Books	Income	Income	(Cash Basis Only)
1 HINSHAW	& CULBERTSON	2,029	2,029		

Part I, Line 16c (990-PF) - Other Professional Fees

		9,266	9,266	0	0
	Description	Revenue and Expenses per Books	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes (Cash Basis Only)
1	ABBOT DOWNING	9,266	9,266		

Part I, Line 18 (990-PF) - Taxes

		1,036	1,036	0	0
	Description	Revenue and Expenses per Books	Net Investment Income	Adjusted Net Income	Disbursements for Charitable Purposes
1	Real estate tax not included in line 20				
2	Tax on investment income				
3	Income tax	252	252		, , , , , , , , , , , , , , , , , , , ,
4	FOREIGN TAX	784	784		

Lukis Foundation 41-1708009 12/31/12

Statement Period: December 1, 2012 to December 31, 2012

The Value of Your Portfolio Investments

Investment	Federal Tax Cost	Units	Value/ Unit	Market Value
Equities 98%				\$10,607,630.02
ABB LTD - ADR	5,818,00	361.000	20.790	7,505.19
ABBOTT LABS	10,142.41	200.000	65.500	13,100.00
ACCENTURE PLC	2,255.60	92.000	66.500	6,118.00
AFLAC INC	9,961.42	234.000	53.120	12,430.08
ALLISON TRANSMISSION HOLDINGS	4,310.09	214.000	20.420	4,369.88
AMERICAN EXPRESS CO	5,631.15	137.000	57.480	7,874 76
AMEX ENERGY SELECT SPDR	21,681.10	358.000	71.420	25,568.36
AMEX MATERIALS SPDR	18,166.00	527.000	37.540	19,783.58
AMPHENOL CORP CL A	5,152.85	105.000	64.700	6,793.5
ANSYS INC	1,992.48	59.000	67.340	3,973.0
APACHE CORP	3,917.06	55.000	78.500	4,317.50
APPLE INC	2,676.41	12.000	532.173	6,386.0
BAXTER INTL INC	2,661.52	40.000	66.660	2,666.40
BERKSHIRE HATHAWAY INC.	4,592.93	53.000	89.700	4,754.10
8HP BILLITON LIMITED - ADR	7,225.33	152.000	78.420	11,919.8
BLACKROCK INC	4,583.37	30.000	206.710	6,201.3
CAPITAL ONE FINANCIAL CORP	3,053.39	52.000	57.930	3,012.3
CHEVRON CORP	5,157.23	70.000	108,140	7,569.8
CLOUD PEAK ENERGY INC	2,756.82	138.000	19.330	2,667.5
CNOOC - CHINA NATIONAL OFFSHOR - ADR	6,338.18	38.000	220.000	8,360.0
COLGATE PALMOLIVE CO	8,658.02	122.000	104.540	12,753.8
CSX CORP	1,178.37	60.000	19.730	1,183.80
DENTSPLY INTL INC COM	4,189.13	124.000	39.610	4,911.6
DIAGEO PLC - ADR	11,257.65	175.000	116.580	20,401.5
EBIX, INC.	5,390.14	295.000	16.120	4,755.4
EDISON INTL COM	8,908.26	272.000	45.190	12,291.6
FMC TECHNOLOGIES INC	2,467.53	116.000	42.830	4,968.2
GENTEX CORP	8,145.19	405.000	18.850	7,634.2
GLOBAL PMTS INC W/I	5,119.50	120.000	45.300	5,436.0
GOLDMAN SACHS GROUP INC	4,947.51	41.000	127.560	5,229.9
GRACO INC	2,830.87	89.000	51.490	4,582.6
HEINZ H J CO	11,098.50	225.000	57.680	12,978.00
HSBC - ADR	10,452.37	226.000	53.070	11,993.8
ILLINOIS TOOL WORKS INC	3,515.71	78.000	60.810	4,743.1
INTERCONTINENTALEXCHANGE INC	6,987.09	55.000	123.810	6,809.5
ISHARES DOW JONES SELECT DIVIDEND FD	3,257.10	60,000	57.240	3,434.4
ISHARES MSCI EAFE	4,220.10	81.000	56.860	4,605.6
ISHARES MSCI EX-JAPAN IN FD	10,473.38	199.000	60.520	12,043.4
JOHNSON & JOHNSON	12,177.57	195.000	70.100	13,669.5
JP MORGAN ALERIAN MLP INDEX	26,081.07	652.000	38.460	25,075.9
JPMORGAN CHASE & CO	4,695.56	140.000	43.969	6,155.6
KOMATSU JPY 50.0	8,287.05	444.000	25.259	11,214.9
MARKEL HOLDINGS	4,240.52	12.000	433.420	5,201.0
MASTEC INC COM	4,365.19	186.000	24.930	4,636.9
MCDONALDS CORP	4,538.35	80.000	88.210	7,056.8
MCKESSON CORP	2,344.25	25,000	96.960	2,424.0
MEDNAX INC	4,596.56	88.000	79.520	6,997.7
METTLER-TOLEDO INTL INC	2,955.13	30.000	193.300	5,799.0
MICROSOFT CORP	3,412.42	128.000	26.710	3,418.8
MORNINGSTAR INC	1,997.75	52.000	62.830	3,267.1
NESTLE S.A. REGISTERED SHARES - ADR	11,693.35	304.000	65.170	19,811.6
NEUSTAR INC	3,247.81	142.000	41.930	5,954.0
NIKE INC CL B	3,548.35	130.000	51.600	6,708.0
NORDSTROM INC	6,166.40	160.000	53 500	8,560.00

The Value of Your Portfolio Investments

Investment	Federal Tax Cost	Units	Value/ Unit	Market Value
Equities 98% (continued)	n gersoog alles in l	y rayymar.		40 a ham and 16
OCEANEERING INTL INC		Section of the Contract of the	the state in t	\$10,607,630.02
OIL STATES INTERNATIONAL INC	1,657.54	87.000	53.790	4,679.73
ORBITAL SCIENCES CORP	4,616.78	70 000	71.540	5,007.80
PAYCHEX INC	6,375.48	455.000	13.770	6,265.35
PEPSICO INC	12,298.54 5,170.93	377.000	31.100	11,724.70
PERRIGO CO	4,212.87	83.000	68.430	5,679.69
PNC FINANCIAL SERVICES GROUP	6,242.49	50.000 100.000	104.030 58.310	5,201.50
PRECISION CASTPARTS CORP	6,397 24	50.000	189 420	5,831.00
PROTO LABS INC	1.00	250,000.000	39.420	9,471.00 9,855,000.00
QUALCOMM INC	6,921.51	142.000	61 860	8,784.06
RECKITT BENCKISER PLC GBP	9,345.25	230.000	63.053	14,502.23
ROCK-TENN CO CL A	3,779.03	75.000	69.910	5,243.25
SAP AG - ADR	8,570.90	187.000	80.380	15,031.06
SCHLUMBERGER LTD	7,698.84	90.000	69.299	6,236.87
SPDR S & P 500 ETF TRUST	3,485.21	26.000	142.410	3,702 66
SPECTRUM BRANDS HOLDINGS INC	4,441.64	106.000	44.930	4,762.58
STAPLES INC	7,607.66	618.000	11.400	7,045.20
STARWOOD HOTELS & RESORTS WORLDWIDE	4,532.50	100.000	57.360	5,736.00
STEEL DYNAMICS INC COM	4,783.32	372.000	13.730	5,107 56
TAIWAN SEMICONDUCTOR MANUFACTU - ADR	7,969.91	870.000	17.160	14,929.20
TCF FINANCIAL	4,614.77	365.000	12.150	4,434.75
TELEFONICA SA - ADR	8,016.78	447.000	13.490	6,030.03
TESCO PLC 5P	7,934.61	1,409.000	5.462	7,695.51
TEXAS INSTRUMENTS INC	2,157.06	74.000	30.890	2,285.86
THERMO FISHER SCIENTIFIC INC	5,489 56	106.000	63.780	6,760.68
TRANSDIGM GROUP INC	3,893.59	42.000	136.360	5,727 12
TRANSOCEAN LTD.	10,450.29	198.000	44.660	8,842.68
TUPPERWARE BRANDS CORPORATION	4,315.16	67.000	64.100	4,294.70
UGI CORP NEW COM	3,557.74	136.000	32.710	4,448.56
UNITED PARCEL SERVICE-CL B	7,397.72	101.000	73.730	7,446.73
UNITED TECHNOLOGIES CORP	2,012.88	83.000	82.010	6,806.83
V F CORP	1,571.54	10.000	150.970	1,509.70
VANGUARD MSCI EMERGING MARKETS ETF	15,109.77	464.000	44.530	20,661.92
VCA ANTECH INC	6,297.68	285.000	21 050	5,999.25
VODAFONE GROUP PLC NEW ADR	13,652.72	480.000	25.190	12,091.20
WAL MART STORES INC WASTE MANAGEMENT INC	7,170.29	135.000	68.230	9,211.05
WEX INC	9,443.54	280.000	33.740	9,447.20
WILEY JOHN & SONS INC	1,947.60	74.000	75.370	5,577.38
WISDOMTREE JAPAN HEDGED	2,758.38	75.000	38.930	2,919.75
ZEBRA TECHNOLOGIES CORP CL A	10,301.58 5,480.66	295.000	36.880	10,879.60
3M CO	14,609,77	160.000	39.310	6,289.60
	•	175.000	92.850	16,248.75
Cash & Cash Equivalents 1%			K THET Y SE	\$73,855.93
WF ADV GOVT MM FD-INSTL #1751	73,855.93	73,855.930	1.000	73,855 93
		•		•
ISHARES BARCLAYS 1-3 YEAR TREAS BOND	ىنىشىنى ئىلىنى ئىل 2,859.12	34.000	84.420	2,870.28
ROCHESTER MINN 2.750% 2/01/17	25,331.50	25,000.000	105.189	26,297.25
SPDR BARCLAYS CONVERTIBLE SECU	18,390.79	462.000	40.300	18,618.60
SPDR BARCLAYS HIGH YIELD BOND	11,187.77	299.000	40.710	12,172.29
	·			
Total Portfolio	\$741,434.53			\$10,741,444.37



The Value of Your Portfolio Investments

Investment	Federal Tax Cost	Units	Value/ Unit	Market Value
Equities 81%				\$700,915.06
ABB LTD - ADR	E 010 00	361.000	10.000	
ABBOTT LABS	5,818.00 10,142.41	200.000	18.830 56.230	6,797 63 11,246 00
ACCENTURE PLC	2,868 53	117.000	53.230	6,227.91
AFLAC INC	9,961.42	234.000	43.260	10,122 84
ALEXANDER & BALDWIN INC	2,730.93	80 000	40.820	3,265.60
AMERICAN EXPRESS CO	5,971.50	145.000	47.170	6,839 65
AMEX ENERGY SELECT SPDR	18,440.93	313.000	69.130	21,637.69
AMEX MATERIALS SPDR	18,166.00	527.000	33.500	17,654.50
AMEX UTILITIES SPDR	26,262.96	832.000	35.980	29,935 36
AMPHENOL CORP CL A	8,357.46	165.000	45.390	7,489.35
ANSYS INC	3,312.60	90.000	57.280	5,155.20
APACHE CORP	3,091.05	45.000	90.580	4,076.10
APPLE INC	5,647.91	25.000	405.000	10,125 00
ARBITRON INC	3,245.28	135.000	34.410	4,645.35
BHP BILLITON LIMITED - ADR	7,225.33	152.000	70.630	10,735 76
BIG LOTS INC	4,771.53	150.000	37.760	5,664.00
BLACKROCK INC	4,583.37	30.000	178.240	5,347.20
C H ROBINSON WORLDWIDE INC	7,013.66	95.000	69.780	6,629.10
CHEVRON CORP	5,157.23	70.000	106.400	7,448.00
CNOOC - CHINA NATIONAL OFFSHOR - ADR	6,338.18	38 000	174.680	6,637.84
COLGATE PALMOLIVE CO	14,298.36	191.000	92.390	17,646.49
DENTSPLY INTL INC COM	4,313 64	129.000	34.990	4,513.71
DIAGEO PLC - ADR	11,257.65	175.000	87 420	15,298 50
EBIX, INC.	5,390.14	295.000	22.100	6,519.50
EDISON INTL COM	14,739.47	440.000	41 400	18,216 00
FMC TECHNOLOGIES INC	2,467 53	116 000	52.230	6,058.68
GLOBAL PMTS INC W/I	4,700.54	110.000	47.380	5,211.80
GOLDMAN SACHS GROUP INC	8,435.25	61.000	90.430	5,516.23
GRACO INC	3,843.76	119.000	40.890	4,865.91
HARTE-HANKS COMMUNICATIONS INC	3,638.90	264.000	9.090	2,399.76
HEINZ H J CO	11,098.50	225.000	54.040	12,159 00
HSBC - ADR	10,452.37	226.000	38.100	8,610.60
ILLINOIS TOOL WORKS INC	4,817.50	103.000	46.710	4,811.13
INTERCONTINENTALEXCHANGE INC	6,987.09	55.000	120.550	6,630.25
ISHARES DOW JONES SELECT DIVIDEND FD	15,131.53	325.000	53.770	17,475.25
ISHARES MSCI EAFE	4,220.10	81.000	49.530	4,011.93
ISHARES MSCI EX-JAPAN IN FD	10,473.38	199.000	49 900	9,930.10
ISHARES MSCI JAPAN	9,923.46	1,065.000	9.110	9,702.15
JOHNSON & JOHNSON	9,869.38	160.000	65.580	10,492.80
KOMATSU JPY 50 0	8,287.05	444.000	23.382	10,381.54
LABORATORY CRP OF AMER HLDGS	7,286.76	75.000	85.970	6,447.75
MARKEL HOLDINGS	4,240.52	12.000	414.670	4,976.04
MCDONALDS CORP	4,538.35	80.000	100.330	8,026.40
MEDNAX INC	3,706.95	76.000	72.010	5,472.76
METTLER-TOLEDO INTL INC	2,955.13	30.000	147.710	4,431.30
MORNINGSTAR INC	1,997.75	52.000	59.450	3,091.40
NATIONAL PRESTO INDS INC	2,703.28	25.000	93.600 57.710	2,340.00
NESTLE S.A. REGISTERED SHARES - ADR	15,482.15	384.000	57.710 34.170	22,160.64
NEUSTAR INC	3,247.81	142.000	34.170	4,852.14 2,854.23
NEUTRAL TANDEM INC NIKE INC CL B	3,900 29 5,280.63	267.000 85 000	10.690 96.370	2,654.25 8,191.45
NORDSTROM INC	•		49.710	7,953.60
OCEANEERING INTL INC	6,166.40 2,164.71	160.000 106.000	46.130	4,889.78
ORBITAL SCIENCES CORP	5,144.48	350.000		5,085.50
ONDITAL SCIENCES COMP	ə, i 44.48	350,000	14.530	5,085.50

The Value of Your Portfolio Investments

Investment	Federal Tax Cost	Units	Value/ Unit	Market Valu
Equities 81% (continued)	ay songaron o			\$700,915.0
PAYCHEX INC	12,298.54	377 000	30.110	11,351.4
PEPSICO INC	5,170.93	83.000	66 350	5,507.0
PERRIGO CO	5,060 81	60.000	97.300	5,838.0
PRECISION CASTPARTS CORP	6,397.24	50.000	164.790	8,239.5
QUALCOMM INC	4,919 42	112 000	54,700	6,126.4
RECKITT BENCKISER PLC GBP	9,345.25	230.000	49.420	11,366.6
REPUBLIC SERVICES INC CL A COMM	9,456.08	317.000	27.550	8,733.
ROCK-TENN CO CL A	5,081.84	95.000	57.700	5,481
SAP AG - ADR	6,537.95	152.000	52.950	8,048.
SCHLUMBERGER LTD	7,698.84	90.000	68 310	6,147.
SPDR S & P 500 ETF TRUST	672.83	6.000	125.500	753.
STARWOOD HOTELS & RESORTS WORLDWIDE	5,892.25	130 000	47.970	6,236
STEEL DYNAMICS INC COM	6,188 54	460.000	13.150	6,049.
STERICYCLE INC COM	2,675.14	50.000	77.920	3,896.
TAIWAN SEMICONDUCTOR MANUFACTU - ADR	7,969 91	870.000	12.910	11,231.
TCF FINANCIAL	4,614.77	365.000	10.320	3,766.
TELEFONICA SA - ADR	8,016.78	447.000	17.190	7,683.
TESCO PLC 5P	7,934.61	1,409.000	6.270	8,834
THERMO FISHER SCIENTIFIC INC	7,806.68	146.000	44,970	6,565
TRANSDIGM GROUP INC	3,893.59	42.000	95.680	4,018
TRANSOCEAN LTD.	7,995.03	148.000	38 390	5,681
UGI CORP NEW COM	4,279 29	161.000	29.400	4,733
UNITED TECHNOLOGIES CORP	2,012.88	83 000	73 090	6,066
VANGUARD MSCI EMERGING MARKETS ETF	15,109.77	464.000	38.210	17,729
VCA ANTECH INC	6,297.68	285.000	19.750	5,628
VODAFONE GROUP PLC NEW ADR	11,734.94	410 000	28.030	11,492
WAL MART STORES INC	15,304.09	285 000	59.760	17,031
WASTE MANAGEMENT INC	9,443.54	280 000	32.710	9,158
WILEY JOHN & SONS INC	2,758.38	75.000	44.400	3,330
WRIGHT EXPRESS CORP	3.222.57	110.000	54.280	5,970
ZEBRA TECHNOLOGIES CORP CL A	4,690.53	140.000	35.780	5,009
3M CO	14,609.77	175.000	81.730	14,302
Ronds & Notes 18%	The same of the same	1 304 1 50 525	77 375	\$160,004
FED FARM CREDIT BK 2.230% 11/28/18	25,000.00	25,000.000	100.764	25,191
FED NATL MTG ASSN 2.050% 9/20/16	24,962.50	25,000.000	101.073	25,268
FED NATL MTG ASSN 2.600% 2/24/16	25,000.00	25,000.000	100.315	25,078
ISHARES BARCLAYS 1-3 YEAR TREAS BOND	5,060.95	60.000	84.500	5,070
ROCHESTER MINN 2.750% 2/01/17	25,331.50	25,000.000	104.711	26,177.
SPDR BARCLAYS CAPITAL HIGH YIELD BD	11,187.77	299.000	38.450	11,496
SPDR BARCLAYS CAPTL CONV SEC	18,390.79	462.000	36.170	16,710
VR FED NATL MTG ASSN 2.000% 1/13/17	24,975.00	25,000.000	100.045	25,011.
Cash & Cash Equivalents 1%				\$4,502.
WF ADV CASH INVT MM-SVC 250 REBATE	4,502.33	4,502.330	1 000	4,502.

The Lukis Foundation M/A - Account # 10362500

Total Portfolio

\$865,421.48

\$781,768.40

10362500

03/07/2013

KR9344 501D

THE LUKIS FOUNDATION M/A 10362500 Schedule D Detail of Short-term Capital Gains and Losses

	Date	Date	Gross Sales	Cost or Other	Short-term
-	Acquired	Sold	Price	Basis	Gain/Loss
47. AMERICAN EXPRESS CO COM	03/02/2012	11/20/2012	2,616.44	2,499.64	116.80
40. BIG LOTS INC COM	VAR	03/09/2012	1,813.45	1,280.03	533.42
١.	12/02/2011	10/05/2012	1 1	,363.	4
	08/04/2011	06/26/2012	916.61	869.40	47.21
30. GRACO INC COM W/RIGHTS					
ATTACHED EXP 3/29/2010	10/04/2011	08/11/5015	1,505.13	1,012.89	492.24
260. ISHARES MSCI JAPAN	11/01/2011	04/09/2012	2,529.90	2,422.63	107.27
805. ISHARES MSCI JAPAN	11/01/2011	04/10/2012	•	7,500.83	258.64
	VAR	05/25/2015	11,768.22	11,514.41	253.81
27. ISHARES DOW JONES SELECT	10/12/2012	10/31/2012	1,558.09	1,558.17	-0.08
30. ISHARES BARCLAYS 1-3 YEAR					
BOND	VAR	06/06/2012	2,532.55	2,544.33	-11.78
25. ISHARES BARCLAYS 1-3 YEAR					
BOND	VAR	06/26/2012	2,108.95	2,113.66	-4.71
26. ISHARES BARCLAYS 1-3 YEAR					
TREAS BOND	VAR	07/25/2012	2,197.46	2,192.39	5.07
44. ISHARES BARCLAYS 1-3 YEAR					
TREAS BOND	VAR	09/28/2012	3,716.60	3,715.44	1.16
11. ISHARES BARCLAYS 1-3 YEAR					
TREAS BOND	08/17/2012	10/03/2012	928.93	928.51	0.42
28. ISHARES BARCLAYS 1-3 YEAR					
TREAS BOND	12/18/2012	12/20/2012	2,362.03	2,363.48	-1.45
10. PERRIGO CO COM W/RTS EXP	06/14/2011	03/05/2012	. 950,	847.94	207.65
362. STAPLES INC COM					
W/INVISIBLE RTS TO PUR SHS	05/22/	10/12/2012	4,024.92	4,912.95	-888.03
65. STEEL DYNAMICS INC COM	06/14/2011	01/04/2012	938.87	1,052.16	-113.29
Otals			51,551.00	50,692.00	859.00

/SA

j

ω STATEMENT

10362500

03/07/2013

KR9344 501D

THE LUKIS FOUNDATION M/A 10362500 Schedule D Detail of Long-term Capital Gains and Losses

	Date	Date	Gross Sales	Cost or Other	Long-term
Describrion	nalinha	2000	201		
15% RATE CAPITAL GAINS (LOSSES)					
				ł	- 1
38. ALEXANDER & BALDWIN INC	09/28/2010	03/09/2012	1,783.18	m	• •
42. ALEXANDER & BALDWIN INC	VAR	03/12/2012	1,928.11	1,401.63	526.48
. AMERICAN EXPRESS CO	VAR	11/20/2012	445.35	340.35	105.00
Ι.	VAR	11/20/2012	3,620.94	3,204.61	416.35
. ANSYS INC COM	09/28/2010	10/03/2012	1,152.27	681.35	470.92
ANSYS	09/28/2010	10/04/2012	1,078.74	638.77	439.97
. APPLE	05/01/2010	03/05/2015	2,179.83	945.82	1,234.01
. APPLE COMPUTER INC	VAR	12/05/2012	.959.	2,025.68	,933.
Ι.					
СОМ	09/30/2010	10/03/2012	260.56	197.82	62.74
33. ARBITRON INC					
	VAR	10/04/2012	1,220.19	926.79	293.40
95. ARBITRON INC					
	VAR	12/18/2012	4,461.93	•	2,341.26
41. BIG LOTS INC COM	05/26/2011	12/06/2012	1,227.90	1,301.38	-73.48
. BIG LOTS	05/26/2011	12/07/2012	1,956.42	•	-233.70
C H ROBINSON WORLD	06/14/2011	07/20/2012	- 4	•	9
	06/14/2011	07/24/2012	1,007.58	긺	4.6
. C H ROBINSON WORLDWID	VAR	10/05/2012	2,497.31	,020,	•
co co	VAR	06/15/2012	4,569.60	.752.	817.10
COLGATE-PALMOLIVE CO	09/29/2010	10/31/2012	٠,	1,887.84	618.80
Ι.	09/29/2010	03/20/2012	3,379.80	2,776.77	이
١.	09/29/2010	10/31/2012	4,122.57	3,054.44	1,068.13
. FED					
2.230% 11/28/18	11/21/2011	11/28/2012	25,000.00	25,000.00	NONE
25000. VR FED NATL MTG ASSN					
2.000% 1/13/17	01/11/2010	01/13/2012	25,000.00	24,975.00	25.00
25000. FED NATL MTG ASSN					- i
	08/26/2010	09/20/2012	25,000.00	24,962.50	37.50
25000. FED NATL MTG ASSN					
2.600% 2/24/16	703/	2/24/201	0.000	0000	NON
20. GOLDMAN SACHS GRP INC COM	01/08/2010	11/20/2012	2,371.15	3,487.74	-1,116.59
Totals					

JSA 2F0970 1 000

THE LUKIS FOUNDATION M/A 10362500
Schedule D Detail of Long-term Capital Gains and Losses

	Description	Date	Date	Gross Sales Price	Cost or Other Basis	Long-term Gain/Loss
	32 HARTE-HANKS INC. NEW COM	VAR	09/28/2012	222.79	841.03	-618.2
	4. HARTE-HANKS INC.	VAR	10/01/2012	97.32	269.13	-171.80
	. HARTE-HANKS INC. NEW	VAR	10/02/2012	96.46	170.91	- 74 . 4
	HARTE-HANKS INC. NEW	VAR	10/03/2012	152.59	265.70	-113.1
	HARTE-HANKS INC. NEW	VAR	10/04/2012	68.99	118.72	-49.7
	. HARTE-HANKS INC. NEW	09/28/2010	10/05/2012	332.12	562.19	-230.0
	. HARTE-HANKS INC. NEW	09/28/2010	12/06/2012	75.21	160.63	-85.4
	HARTE-HANKS INC. NEW	09/28/2010	12/01/2012	173.16	378.62	-205.4
	HARTE-HANKS INC. NEW	28/	12/10/2012	389.98	871.97	-481.9
	ILLINOIS TOOL WORKS	VAR	/20/	. 7	1,301.79	189.9
	65. ISHARES DOW JONES SELECT	09/01/2010	05/22/2012	7.8	2,964.53	593.3
	ISHARES DOW JONES	09/01/2010	05/29/2012	4,977.93	4,104.74	873.1
	. ISHARES DOW JONES	VAR	09/10/2012	4,064.61	3,152.62	911.9
	ISHARES BARC					
	TREAS BOND	VAR	07/25/2012	338.08	334.06	4.0
	TREAS BOND	08/06/2009	10/03/2012	168.90	166.80	2.1
	ıc	ı				
	HLDGS	VAR	10/04/2012	6,999.52	7,286.76	-287.2
	고 고	04/19/2011	12/12/2012	159.78	219.92	-60.1
	NATIONAL P	VAR	12/13/2012	287.56	437.53	-149.9
	PRESTO INDS	VAR	12/14/2012	215.96	٠	-109.2
	. NATIONAL PRESTO INDS	05/16/2011	12/11/2012	١,	•	-108.4
	. NATIONAL PRESTO INDS	VAR	12/18/2012	289.52	433.51	-143.9
	NATIONAL PRESTO INDS	VAR	12/19/2012	284.37	430.70	-146.3
	PRESTO INDS	VAR	\sim	344.88	531.32	-186.4
	NESTLE S A SPONSORED	07/02/2010	06/11/2012	2,280.23	.894.	385.8
	S A SPONSORED	07/02/2010	08/06/2012	2,467.62	• • •	573.2
	INTELIOUEN	VAR	02/21/2012	254.80	454.59	-199.7
	;	VAR	02/22/2012	381.67	•	-295.4
		VAR	02/23/2012	691.21	837.48	-146.2
	١.	09/28/2010	02/24/2012	•	112.95	-7.4
	INTELIQUENT,	09/28/2010	02/27/2012	196.79	213.35	-16.56
	24. INTELIQUENT, INC.	09/28/2010	03/14/2012	271.81	301.20	-29.39
	15. INTELIQUENT, INC.	09/28/2010	03/15/2012	164.67	188.25	-23.5
Totals						

JSA 2F0970 1 000

THE LUKIS FOUNDATION M/A 10362500 Schedule D Detail of Long-term Capital Gains and Losses

	Date	Date	Gross Sales	Cost or Other	Long-term
Description	Acquired	Sold	Price	Basis	Gain/Loss
36. INTELIQUENT, INC.	09/28/2010	03/16/2012	387.63	451.80	-64.17
24. INTELIQUENT, INC.	09/28/2010	03/19/2012	266.75	301.20	-34.45
30. INTELIQUENT, INC.	VAR	03/20/2012	353.28	362.33	-9.05
20. NIKE INC CL B COM	02/07/2011	03/20/2012	2,236.95	1,732.28	504.67
	09/28/2010	01/12/2012	893.76	507.17	386.59
317. REPUBLIC SERVICES INC CL A					
	VAR	10/18/2015	6,046.97	9,456.08	-409.11
20. ROCK-TENN CO CL A	VAR	08/11/2012	1,307.60	1,302.81	4.79
580. UTILITIES SELECT SECTOR					
SPDR FD	VAR	02/02/2012	20,117.49	18,434.89	1,682.60
252. UTILITIES SELECT SECTOR					
SPDR FD	VAR	08/13/2012	9,423.56	7,828.07	1,595.49
30. STARWOOD HOTELS & RESORTS					
WORLDWIDE	08/15/2011	11/20/2012	1,576.76	1,359.75	217.01
23. STEEL DYNAMICS INC COM	05/14/2010	01/04/2012	332.21	353.06	-20.85
COM	VAR	09/07/2012	4,672.11	2,675.14	1,996.97
ii	07/10/2008	11/20/2015	2,467.58	2,317.12	150.46
25. UGI CORP NEW COM W/RTS					
ATTACHED EXP 04/29	09/28/2010	06/26/2012	703.30	721.55	-18.25
150. WAL MART STORES INC COM	VAR	04/24/2012	8,697.28	8,133.80	563.48
CORP	09/28/2010	_	,595.	1,027.06	568.03
7. WRIGHT EXPRESS CORP	09/28/2010	01/13/2012		247.91	131.38
25. ACCENTURE PLC	02/24/2005	11/20/2012	1,669.24	612.93	1,056.31
				-	
TOTAL 15% RATE CAPITAL GAINS (LOSSES)			245,593.00	227,904.00	17,689.00
			100	- 00	1
Totals			245,593.00	227,904.00	17,689.00

JSA 2F0970 1 000

SCHEDULE IV

Lukis Foundation 41-1708009 12/31/12

Part VIII, Line 1 - Officers and Directors

Name and Address	Title and <u>Hours</u>	Benefit <u>Plans</u>	Expense Allowance	Compensation
Lawrence J. Lukis 125 Westwood Lane	President 2	0	0	0
Wayzata, MN 55391				
Donna B. Lukis 125 Westwood Lane	Secretary/ Treasurer	0	0	0
Wayzata, MN 55391	1			
Donald Filareki 125 Westwood Lane Wayzata, MN 55391	Vice President 1	0	0	0

SCHEDULE V

Lukis Foundation 41-1708009 12/31/12

Name and Address	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of recipient	Purpose of grant or contribution	Amount
Treehouse Attn: Development 2100 24th Avenue South, #200 Seattle, WA 98144	N/A	501(c)(3)	Unrestricted	5,000
Ronald McDonald House, Upper Midwest 818 Fulton Street SE Minneapolis, MN 55414	N/A	501(c)(3)	Unrestricted	5,000
Hospice Foundation of America 1710 Rhode Island Avenue, NW Suite 400 Washington, DC 20036	N/A	501(c)(3)	Unrestricted	5,000
Greater Minneapolis Crisis Nursery NW 6189 P.O. Box 1450 Minneapolis, MN 55485-6189	N/A	501(c)(3)	Unrestricted	5,000
Department of Development Mayo Clinic 200 First Street SW Rochester, MN 55905	N/A	501(c)(3)	Unrestricted	5,000
St. Jude Children's Research Hospital 501 St. Jude Place Memphis, TN 38105	N/A	501(c)(3)	Unrestricted	5,000
Minnesota Coalition for Battered Women 60 E. Plato Boulevard, Suite 130 St. Paul, MN 55107	N/A	501(c)(3)	Unrestricted	5,000
Interfaith Outreach & Community Partners 1605 County Road 101 N Plymouth, MN 55447	N/A	501(c)(3)	Unrestricted	5,000

Name and Address .	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of recipient	Purpose of grant or contribution	Amount
Big Brothers Big Sisters of the Greater Twin Cities 2550 University Ave. W, Suite 410N St. Paul, MN 55412	N/A	501(c)(3)	Unrestricted	5,000
Minnesota Public Radio 480 Cedar Street St. Paul, MN 55101	N/A	501(c)(3)	Unrestricted	5,000
Gustavus Adolphus College 800 West College Avenue St. Peter, MN 56082	N/A	501(c)(3)	Unrestricted	5,000
Buffalo City Mission 100 E. Tupper Street Buffalo, NY 14203	N/A	501(c)(3)	Unrestricted	5,000
Wings Flights of Hope Inc. P.O. Box 872 Orchard Park, NY 14127	N/A	501(c)(3)	Unrestricted	5,000
Make-A-Wish Middle Tennessee 8119 Isabella Lane, Suite 105A Brentwood, TN 37027	N/A	501(c)(3)	Unrestricted	5,000
Total				70,000

(Rev January 2013)

Department of the Treasury

Application for Extension of Time To File an **Exempt Organization Return**

File a separate application for each return.

OMB No 1545-1709

• If you are	e filing for an Automatic 3-Month Extensio e filing for an Additional (Not Automatic) 3 oplete Part II unless you have already bee	-Month Ex	tension, complete only Part II (on	page 2 of this	form		. ► X	
Electronic f a corporatio 8868 to requ Return for T	iling (e-file). You can electronically file Forn required to file Form 990-T), or an addition uest an extension of time to file any of the foransfers Associated With Certain Personal. For more details on the electronic filing of	m 8868 if y nal (not aut orms listed Benefit Cor	ou need a 3-month automatic extentomatic) 3-month extension of time. in Part I or Part II with the exception of the IF	sion of time to You can elect of Form 8870 S in paper fo	o file (tronic), Info rmat	(6 mont ally file ormation (see	ths for Form n	
Part I	Automatic 3-Month Extension of 3	Time Onl	v submit original (no copies nee	ded)				
A corporation Part I only . All other cor	n required to file Form 990-T and requestin	g an autom	natic 6-month extension—check this	box and com	exte			
Type or	Name of exempt organization or other filer, se	o inetruction		s identifying n Employer iden				
Type or print	LUKIS FOUNDATION	e mshucaon	15.	41-1708009	uncauc	iii iidiiida	1 (EIN) 01	
File by the due date for	Number, street, and room or suite no. If a P.O	. box, see in	nstructions.	Social secur	ity nu	mber (S	SN)	
filing your	your 723 WEST WOOD FAIL							
instructions	turn See City, town or post office, state, and ZIP code. For a foreign address, see instructions.							
Enter the Re	eturn code for the return that this application	ıs for (file	a separate application for each retu	rn)			. 04	
Application Is For	1	Return Code	Application Is For				Return Code	
Form 990 o	r Form 990-EZ	01	Form 990-T (corporation)				07	
Form 990-E		02	Form 1041-A				08	
Form 4720	· · · · · · · · · · · · · · · · · · ·	03	Form 4720				09	
Form 990-F		04	Form 5227				10	
	(sec. 401(a) or 408(a) trust)	05	Form 6069				11	
Form 990-1	(trust other than above)	06	Form 8870				12	
Telephor If the org If this is to for the whole list with the until is for	anization does not have an office or place of or a Group Return, enter the organization's e group, check this box ▶ ☐ . names and EINs of all members the extensivest an automatic 3-month (6 months for a control of the co	of business four digit C If it is for p ion is for. corporation	Group Exemption Number (GEN) part of the group, check this box	on of time	. ▶	ar	this is and attach a	
	tax year beginning tax year entered in line 1 is for less than 12 hange in accounting period			Final	retun	 1	. <u>.</u> .	
	application is for Form 990-BL, 990-PF, 99	0-T, 4720.	or 6069, enter the tentative tax, less	any				
nonre	fundable credits. See instructions.				3a	\$	400	
estim	application is for Form 990-PF, 990-T, 472 ated tax payments made. Include any prior	year overp	ayment allowed as a credit.		3b	\$	480	
	nce due. Subtract line 3b from line 3a. Inclu		- · · · · · · · · · · · · · · · · · · ·	using			^	
	S (Electronic Federal Tax Payment System ou are going to make an electronic fund withdra			orm 8879 FO 6	3c	ment in	etructions	
Juditon. II y	or and domin to make an electronic intin Mining	THE PROPERTY.	, , o, 0000, 366 i 01111 0433-EU aliu F	21111 201 2-EU II	u yay	mentill	Ja a Galonia.	

Form 886	68 (Rev. 1-2013)					Page 2
• If vo	ou are filing for an Additional (Not Automatic)	3-Month Ex	tension, complete only Part II	and check this box		. ▶ 🗓
-	Only complete Part II if you have already been					٠ - ش
	ou are filing for an Automatic 3-Month Extens	-		providusty mod r or	0000.	
Part				ninal (no copies n	eeded)	
L. C.I.C.	Additional (Not Materialis) of mor	ILIT EXCOTO		ler's identifying num		nstructions
Туре с	Name of exempt organization			Employer identification		
print	LUKIS FOUNDATION			41-1708009		•
pinic	Number, street, and room or suite no. If a P.	O hox see in	nstructions	Social security num	her (SSN)	
File by the		,		Cooks cooking name	.55. (55.1)	
due date f filing your		e For a foreig	n address, see instructions	<u> </u>		
return Se	9 14/43/7474	5. 1 0. u 10.0.g	n addicac, add maddadiia.	MN		55391
Instruction	s IMAIZAIA			IVIIA		33391
Enter t	he Return code for the return that this applicati	on is for (file	a separate application for each r	eturn)		. 04
Applie	ation	Return	Application	*****		Return
Is For		Code	Is For			Code
	990 or Form 990-EZ	01	777702511457647X22-4K14474445			W.M. W.
	990-BL	02	Form 1041-A	NEW THE STREET OF THE SERVICE	**************************************	08
	4720 (individual)	03	Form 4720			09
	990-PF	04	Form 5227			10
	990-T (sec. 401(a) or 408(a) trust)	05	Form 6069			11
	990-T (sec. 401(a) of 400(a) flust)	06	Form 8870			12
101111	990-1 (trust other than above)	1 00	11011110070			1
STOP!	Do not complete Part II if you were not already	granted an a	automatic 3-month extension on a	a previously filed Fo	rm 8868.	
• The	books are in the care of LAWRENCE LU	IKIC		· · · · · · · · · · · · · · · · · · ·		
	***************************************	טאוט.	FAX No. ▶			
	ephone No conganization does not have an office or place	 o of business		hav		
					16 4	
	is is for a Group Return, enter the organization	•				his is
	whole group, check this box ▶	•	part of the group, check this box		► [] and	d attach a
list with	the names and EINs of all members the exter	nsion is for.				
	I request an additional 3-month extension of tir		11/15/2013			
	For calendar year <u>2012</u> , or other tax year			and ending		
6	If the tax year entered in line 5 is for less than	12 months, c	check reason: Initial re	turn 💹 Final reti	ım	
L	Change in accounting period					
7	State in detail why you need the extension NE	ED ADDITION	ONAL TIME TO PREPARE A CC	MPLETE AND ACC	URATE F	ETURN.
-						
	If this application is for Form 990-BL, 990-PF, 9	990-T, 4720,	or 6069, enter the tentative tax,	less any		
_	nonrefundable credits. See instructions.			88		594
b	If this application is for Form 990-PF, 990-T, 47	720, or 6069	, enter any refundable credits and			
	estimated tax payments made. Include any pri	or year over	payment allowed as a credit and	any	遂	
_	amount paid previously with Form 8868.			81) \$	480
c	Balance due. Subtract line 8b from line 8a. Inc	clude your pa		by using		
	EFTPS (Electronic Federal Tax Payment Systematics)	em) See inst	tructions. Via FFTP5	80	\$	114
	Signature and Ve	erification i	must be completed for Part	Il only.		
	penalties of perjury, I declare that I have examined			statements, and to the	e best of m	У
knowle	dge and belief, it is true, correct, and complete, and	that I am aut	thorized to prepare this form.		,	1

Signature & Krim Wern CCA Title >

Date > 8/13/20/3
Form 8868 (Rev 1-2013)